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1 s 6.0E+3 5,970.0 5.970.0
2 |EEHER 1.0E-1 0.1 0.1
3 |AFER
4 [ERE 5.6E+2 560.0 560.0
5 |#EE 1.9E+3 1,918.0 1.3E+3 1,300.0 3,218.0
6 |ILER 9.0E-1 0.9 7.7E+1 77.0 77.9
7 |EER 9.0E-1 0.9 0.9
8 |ZEE 1.6E+4 15,736.4 1.6E+4| 7.7E+2 16,889.0 32,6254
9 |#HHKE 3.4E+3 3,401.0 5 4E+2 540.0 3,941.0
10 |HBE 5.4E+3| 3.2E+1 5434.4 5434.4
11 |BER 1.2E+4 12,159.0 12.159.0
12 |FEER 2.3E+3| 7.0E-1 2,255.5 2.2555
13 |EHEAR
14 [#FIE 8.5E+3 8,529.0 2.0E+2 200.0 8.729.0
15 |$FiRE 8.7E+1 87.0 87.0
16 |ZWLE 2.3E+3 2,320.0 1.9E+2 190.0 2,510.0
17 | BN
18 |[EHE
19 [IWFIE 3.2E+2 320.0 320.0
20 |EHE 3.8E+3 3,800.0 7.0E+0 7.0 3.807.0
21 |[IHBER 2.8E+3 2,760.1 7.2E+1 72.0 28321
22 |BEE 6.2E+2 624.0 624.0
23 |[BHIE 2.9E+3 2,918.0 1.0E+2| 1.9E+2 294.0 3.212.0
24 |[=ZEER 1.2E+4| 3.5E+2 12,763.7 3.7E+2 373.0 13,1367
25 |#HER 4 0E+2 400.3 400.3
26 |RERAT 1.8E+0 1.8 8.7E+0| 5.0E+0 13.7 155
27 | KBRFF 5 4E+2 535.1 2.3E+0| 1.3E+2 132.3 667.4
28 |EER 1.5E+4| 1.2E+3 15,988.4 8.4E+2 840.9 16.829.3
29 |E=RE
30 [fOFRLE 6.4E+1| 3.0E+1 94.0 94.0
31 |EWE
32 |BRE 3.4E+3 3,400.0 3,400.0
33 |[EWE 6.0E+2 602.5 602.5
34 |ILER 3.4E+3 3,440.0 3,440.0
35 [WwOg 3.7E+2 366.0 366.0
36 |EESR 5.6E+2 559.4 1.1E+0 1.1 560.5
37 | FINER 4.0E+1 39.6 39.6
38 |ERE 4.9E+3 4,904.0 5.7E+3 5,740.0 10,644.0
39 |=HER
40 [fEME 3.6E+1 36.1 1.1E+3 1,100.0 1,136.1
41 |EER 7.7E+1| 6.4E+2 717.0 717.0
42 | RIER
43 [RBERE 9.8E+2| 1.7E+3 2,680.0 2.680.0
44 [KHE 1.2E+3 1,204.7 1,204.7
45 [EBE 1.7E+3 1,661.6 8.9E+1 89.0 1,750.6
46 |ERBE 1.0E+1 10.0 10.0
47 B
2 5 1.1E+5] 4.0E+3 117,638.5 1.6E+4] 1.2E+4 28.419.0 146.057.5
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